: i
__MRRosi-#L | z2ac B

Poul Davks - SL 465F - pudass@upl. edic

E‘;d U 5({&499&5& (3D, WP 601'»\/*?05\“"“3/ CQ,QESBS/

tzosievs/ Hﬂzosxmssuc labus F(#
twm
Couse Coals — Tests - Quizzes - Qw - |

Grodes - Beademe Honesty — Pecomodations -

% Thisk  Understand




H#Hl-2

Ditlereatal Baaion s .-
» Hothewmateal Hode!
“ {w( {D ald u»dﬁu’s‘l'mdms




I

| #-2h | 3

i)

/\/@\_ /cIc ux:(}; 0‘:56&1' \Qaﬁms e B 69'&0:%-7!

> Pasic ?hc(aw@.l (o F'WL = na

’ E;c?ceimm{-ml “-@ack L Ff)m“r —~ MS" g:({%h/&a

Iamu'& aly resistome




B &

@> i@?w&fﬁ" | Vaﬁaﬂg - Variabe v ‘oitl” .

%LWM
| >
—_ ”%3‘-6[.2) UCDB = O
Ordimrol D Herental E(‘m. (cre)
—&kﬂ'ypemdm{' Vendle = urkicwn Qw\ohm

Order ot e = hidest derty. © 4
Sdubon. 26 o€ = Qumc. thet makes _-"-{‘me |
o) = 2)642’ Claecks (5t> 'J‘“juc

=> Tuiful Ualue Preblewn (TyP)
= 6DE & O&(uco% webpown S
o some Dme (g,t=0)
Solubion of TP = func. that sdes 2o
O TRHF tnifial valoe
Selee tor C! o‘(o\ z-a0+(, =C

O = C=O

'V

-va+C. Checks (~§C>; Y v

C_&lsgb C@;@ck TR, dxzch.u(_o) O




o -FA

E/X.\a/.t{\éf tnodel DG DEJ@&P -p-a_(Lth e ‘(b 65@_0;{-7

- Bosic physizal lao: Fﬂut = na

’ ExPcuimcn{-zd “Lad I:SW"LI = e, g'%"{s

_-\{\du,&c (:mr

ﬁ%w@ aly resistone
Fair = -0
Sl
A‘TS op
fF-m‘r -‘——sz-'

-k

Newhn: Fonl=a  Fads: Fy= -, Fains —Ro™
a5 - o - b
b i - b

G = ok




-5

w 83"(.“{30'?0%@5 |

B Caling o/air sesistonce
. a
CTE: --‘?-"-- = oy - fé —

Tct 0’(05 =0

e S T2 ! e 55

A O uﬂ«t&a ot {laim%%s%\r a:ﬁ'

Te C“"(Mma»

3 _.ma |
O = 6" “D:i'er;\ Ter ~ “ﬁ“

5@&1-&%50 n of DE B

otk & Ex lyple to sde TE




